Gaslight Drive Renovations CONTRACT NUMBER 10-07(K7-010)

Racine, WI

CONTRACT NUMBER 10-07(K7-010)

Receive bids: Thursday, March 22, 2007, Room 303, 2:00 PM Local Time Office of the Commissioner of Public Works

---- -------Platt Construction, Inc Cornerstone Pavers, LLc LaLonde Constuction Mann Brothers..Inc A.W Oakes & Sons, Inc Milwaukee General Con Black Diamond Group Inc. D.C Burbach, Inc Mary Gleason Contracto Waykesha, WI Franklin WI Racine WI Milwaukee, WI 5% Bid Bond Elkhorn, WI 5% Bid Bond Racine, WI 5% Bid Bond Milwaukee WI Oak Creek WI Franksville WI 5% Bid Bon 5% Bid Bond 5% Bid Bond 5% Bid Bone 5% Bid Bond 5% Bid Bone UNIT COST OTAL COST JNIT COST OTAL COST QUANTITY ITEM UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST OTAL COST UNIT COST TOTAL COST UNIT COST OTAL COST UNIT COST TOTAL COST 204.0100 204.0150 204.0155 930 S' Removing Pavement \$4,761.60 \$3,720.00 \$2,790.00 \$4.55 \$3.50 \$5.50 \$4,231.50 \$6,510.0 \$6,045.00 \$12.00 \$11,160.00 \$4,324.50 \$2,250.00 \$3,300.00 \$375.00 \$900.00 \$1,000.00 \$600.00 \$300.00 \$26,880.00 \$12.00 \$6.00 \$10.00 \$105.00 \$105.00 \$400.00 \$2,000.00 \$20.00 \$20.00 \$20.00 \$20.00 \$20.00 Removing Curb & Gutter Removing Concrete Sidewall \$4.37 \$4.37 \$79.88 \$79.88 \$2,625.00 \$3,300.00 \$375.00 \$375.00 \$3.60 \$6.00 \$4.25 \$4.50 750 LF 825 SY \$3,277.50 \$3,605.25 \$3.00 \$4.00
 53.00
 \$2265

 52.55
 \$75.00

 55.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00

 51.00
 \$50.00
</tr \$2,250.00 \$2,186.25 \$4.50 \$5.00 \$3,375.00 \$4,125.00 \$3.50 \$4.00 \$75.00 \$400.00 \$3,000.00 \$16.00 \$34.00 \$34.00 \$34.00 \$34.00 \$34.5 \$29.00 \$5.00 \$7.20 \$155.00 \$17.00 \$17.00 \$17.00 \$17.00 \$17.15 \$30.00 \$2,625.00 \$4,537.50 \$2,700.00 \$4,950.00 \$3,187.50 \$3,712.50 \$4,500.00 \$8,250.00 Removing Concrete Bases Removing Signal Pull Boxes \$3,712.50 \$625.00 \$900.00 \$275.00 \$600.00 \$375.00 \$36,336.00 \$75.00 \$75.00 \$75.00 \$75.00 \$100.00 \$100.00 \$400.00 \$30.00 \$30.00 \$30.00 \$36.00 \$74.80 \$7.00 \$150.00 \$17.25 \$19.00 \$3.20 \$3.20 \$3.20 \$3.20 \$3.20 204.0195 5 E/ \$399.40 \$399.40 \$75.00 \$75.00 \$300.00 \$1,000.00 \$20.00 \$20.00 \$20.00 \$20.00 \$39.00 \$39.00 \$4.00 \$39.00 \$4.00 \$18.00 \$16.00 \$18.00 \$16.00 \$33.55 \$5.50 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$500.00 \$500.00 \$125.00 \$125.00 \$525.00 \$525.00 5 E4 Removing Signal Pull Boxes Removing Inlets Finishing Roadway (project) Base Aggregate Dense 3/4-Inch Base Aggregate Dense 1 1/4-Inch Concrete Pavement 9-Inch \$79.88 \$354.00 \$1,770.00 \$13.82 \$13.87 \$285.00 \$375.00 \$1,050.00 \$1,000.00 \$330.00 \$150.00 \$33,600.00 \$75.00 \$350.00 \$3,500.00 \$16.00 \$16.00 \$36.00 \$375.00 \$1,050.00 \$3,500.00 \$480.00 \$240.00 \$34,560.00 \$3/5.00 \$1,200.00 \$3,000.00 \$480.00 \$240.00 \$32,640.00 \$75.00 \$400.00 \$2,000.00 \$30.00 \$30.00 \$47.60 \$375.00 \$1,200.00 \$2,000.00 \$900.00 \$450.00 \$45,696.00 \$500.00 \$1,200.00 \$900.00 \$450.00 \$34,560.00 \$125.00 \$300.00 \$275.00 \$20.00 \$25.00 \$37.85 \$525.00 \$1,200.00 \$2,000.00 \$600.00 \$300.00 \$41,040.00 204.0220 213.0100 305.0110 \$1,062.00 \$1,770.00 \$414.60 3 EA 1 EA 30 Tor \$208.05 \$273,600.00 305.0120 415.0090 15 Tor 960 SY \$26,880.00 \$4,000.00 \$1,755.00 \$640.00 \$1,350.00 \$3,600.00 \$5,520.00 \$2,093.75 \$55,880.00 \$3,080.00 \$33,600.00 \$6,240.00 \$3,510.00 \$1,600.00 \$860.00 \$1,710.00 \$5,000.00 \$6,900.00 \$3,125.00
 1115.60
 55.248.00

 55.00
 58.00.00

 55.50
 5880.00

 51.20
 51.02.00

 51.20
 51.02.00

 51.20
 51.02.00

 51.20
 51.00.00

 53.75
 52.343.75

 52.00
 58.00

 51.75.00
 53.76.00

 51.75.00
 51.750.00

 51.750.00
 51.750.00

 51.750.00
 51.750.00

 51.750.00
 51.750.00

 51.750.00
 58.750.00

 52.00
 58.750.00

 55.00
 58.750.00

 55.00
 55.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00
 58.750.00

 52.00.00
 57.700.00

 52.00.00
 57.700.00

 53.770.00
 53.770.00

 53.770.00
 53.770.00

 80 SY Colored Concrete Pavement 9-Inch Concrete Driveway 7-Inch Special \$90.00 \$61.36 \$7,200.00 \$2,761.20 \$82.00 \$72.00 \$6,560.00 \$3,240.00 \$756.00 \$1,305.00 \$70.00 \$68.00 \$5,600.00 \$3,060.00 \$7,168.00 \$3,366.00 \$120.00 \$145.00 \$9,600.00 \$6,525.00 45 51 Concrete Driveway 7-Inch Special Pavement Too Pavement Downe Bans Pavement Downe Bans Concrete Curb & Guiter 15-Inch Type A Concrete Curb & Guiter 13-Inch Type A Concrete Sidewalk 5-Inch (Gaight Drive Madian and Right T Concrete Sidewalk 5-Inch (Sagitht Drive Madian and Right T Concrete Sidewalk 5-Inch (Sagitht Drive Madian and Right T Concrete Sidewalk 5-Inch (Sagitht Drive Madian and Right T Concrete Sidewalk 5-Inch (Sagitht Drive Madian and Right T Concrete Sidewalk 5-Inch (Sagitht Drive Madian and Right T \$2,761.20 \$1,038.40 \$862.58 \$2,166.30 \$3,718.00 \$8,041.95 \$2,325.00 \$67,157.60 \$2,640.00 \$72.00 \$8.00 \$10.00 \$118.00 \$15.00 \$15.00 \$3.50 \$6.50 \$38.00 \$3,240.00 \$1,280.00 \$860.00 \$2,124.00 \$3,000.00 \$5,175.00 \$2,187.50 \$66,040.00 \$3,344.00 \$68.00 \$4.55 \$12.65 \$95.00 \$25.95 \$27.90 \$4.95 \$6.35 \$39.00 \$3,060.00 \$728.00 \$1,087.90 \$1,710.00 \$5,190.00 \$9,625.50 \$3,093.75 \$64,516.00 \$3,432.00 \$145.00 \$3.00 \$3.75 \$150.00 \$23.00 \$25.00 \$5.00 \$9.15 \$45.00 \$1,305.00 \$800.00 \$619.20 \$2,790.00 \$3,400.00 \$6,555.00 \$2,093.75 \$3,366.00 \$1,120.00 \$1,032.00 \$2,700.00 \$3,450.00 \$6,555.00 \$2,000.00 \$6,525.00 \$480.00 \$322.50 \$2,700.00 \$4,600.00 \$8,625.00 \$3,125.00 416 0610 160 F4 \$6.49 \$10.03 160 EA 86 EA 18 Tor 200 LF 345 LF 625 SF 416.0620 416.0620 465.0120 601.0405 601.0409 602.0410 \$10.03 \$120.35 \$18.59 \$23.31 \$3.72 \$6.61 \$30.00 \$72,644.00 \$2,640.00 \$62,992.00 \$92,964.00 10160 SI \$61,976.00 \$3,432.00 602.0505 88 SI \$3,168.00 \$3,960.00 \$3,960.00 \$2,280.00 \$200.00 \$1,500.00 \$3,900.00 \$1,300.00 \$1,300.00 \$1,200.00 \$2,640.00 \$4,259.80 \$295.00 \$1,770.00 \$4,071.00 \$1,003.00 \$442.50 \$1,593.00 \$2,126.95 \$1,150.00 \$30.00 \$100.00 \$1,900.00 \$1,200.00 \$1,200.00 \$450.00 \$450.00 \$750.00 \$8.50 \$5.00 \$39.00 \$100.00 \$400.00 \$1,200.00 \$1,200.00 \$1,200.00 \$450.00 \$750.00 \$9.00 \$2.50 \$45.00 \$60.00 \$200.00 \$1,500.00 \$1,300.00 \$1,300.00 \$400.00 \$400.00 \$25.00 \$5.10 608.0312 38 LF 1 EA Storm Sewer Pipe Reinforced Concrete Class III 12-Inch Culvert Pipe Concrete Collar \$112.10 \$295.00 \$79.00 \$400.00 \$400.00 \$7.50 \$1.00 \$7.50 \$1.00 \$ \$3,002,003 \$300,000 \$300,000 \$300,000 \$3,002,000 \$3,002,000 \$3,002,000 \$3,002,000 \$3,002,000 \$3,000,0000 \$3,000,0000 \$3,000,0000 \$3,000,00000 \$3,000,0000 \$3,000,0000 \$3,000,0000 \$3,000,00 \$3800.00 \$300.00 \$1,500.00 \$1,500.00 \$750.00 \$515.00 \$250.00 \$7,000.00 \$1,600.00 \$1,600.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$155.00 \$255.00 \$155.00 \$255.00 \$155.00 \$255.00 \$155.00 \$255.00 \$155.00 \$255.00 \$155.00 \$255.00 \$155.00 \$250.00 \$25 \$64.00 \$1,500.00 \$1,100.00 \$240.00 \$240.00 \$240.00 \$240.00 \$240.00 \$320.00 \$320.00 \$35.00 \$8,600.00 \$5.80 \$5.00 \$5.80 \$5.00 \$5.00 \$5.000\$\$5.000 \$2,42,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,150,00 \$5,000,00 \$5,00,00 \$5,00,000\$\$5,000\$\$\$5,000\$\$5,000\$\$5,000\$\$\$5 \$3,800.00 \$4,00.00 \$1,900.00 \$3,600.00 \$4,50.00 \$4,377.50 \$1,250.00 \$5,000.00 \$5,000.00 \$5,000.00 \$792.00 \$105.00 \$211.20 \$211.20 \$530.00 \$3,800.00 \$400.00 \$1,900.00 \$1,200.00 \$4,500.00 \$4,500.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$12,00 \$12,500 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$100. \$100.00 \$400.00 \$1,900.00 \$1,200.00 \$450.00 \$450.00 \$450.00 \$11.00 \$3.10 \$5,000.00 \$110.00 \$110.00 \$100.00 \$2,300.00 \$110.00 \$110.00 \$110.00 \$110.00 \$350.00 \$350.00 \$355.00 \$355.00 \$355.00 \$355.00 \$3,800.00 \$400.00 \$1,900.00 \$1,200.00 \$45,650.00 \$5,665.00 \$2,250.00 \$5,065.00 \$11,000 \$5,655.00 \$110.00 \$100.00 \$100.00 \$110.00 \$100. 1 EA 3 EA 1 EA 1 EA 3 EA Manholes Type 1 Inlets Type 1 Reconstructing Inlets Manhole Covers Type J \$295.00 \$1,770.00 \$1,357.00 \$1,003.00 \$442.50 \$531.00 611.0201 \$1,750.00 \$1,300.00 \$750.00 \$550.00 \$550.00 \$3.50 \$65.00 \$67.5 \$8.00 \$8.00 \$2.00 \$2.00 \$200.00 \$200.00 \$500.00 \$575.00 611.0201 611.0301 611.0430 611.0530 Inlet Covers Type Z Pipe Underdrain 6-Inch 611.0666 612.0106 515 LB \$4.13 \$4.60 \$12,875.00 250 LI Fence Safety \$1.275.00 \$4.60 \$7,500.00 \$5.31 \$11.21 \$6.39 \$1.80 \$106.50 \$117.15 \$53.25 \$1,150.00 \$7,500.00 \$2,124.00 \$347.51 \$319.50 \$90.00 \$106.50 \$117.15 \$266.25 \$2.66 \$213.00 \$5.10 \$2,500.00 \$10.00 \$15.50 \$2.50 \$210.00 \$250.00 \$110.00 619.1000 620.0100 1 E/ \$5,000.00 \$5,000.00 \$5,000 \$12,214 \$211,20 \$21 \$4,840.00 \$8.90 \$10.00 \$5.00 \$0.25 \$150.00 \$100.00 \$20.00 \$100.00 \$525.00 \$130.00 \$525.00 \$130.00 \$525.00 \$130.00 \$21.00 \$35.00 \$2,500.00 \$4,000.00 400 SI Concrete Corrugated Median Concrete Median Sloped Median Concrete Median Sloped Nose Topsoil Mulching Mobilizations Erosion Control Mobilizations Emergency Erosion Control Intel Protection Type C 620.0100 620.0300 625.0100 627.0200 628.1905 31 SF 50 SY 50 SY 1 EA 1 EA 5 EA \$310.00 \$775.00 \$125.00 \$250.00 \$550.00 \$10.50 \$26.00 \$50.00 \$7,380.00 \$7,380.00 \$795.50 \$105.00 \$22.00 \$22.00 628.1910 628,7015 \$75.00 \$10,000.00 \$110.00 \$110.00 \$875.00 \$175.00 \$20.00 \$75.00 \$50.00 \$110.00 \$1,050.00 \$26.00 \$615.00 \$255.00 \$18.50 \$21.00 \$26.00 \$10.56 \$26.40 \$26.40 \$528.00 \$528.00 \$100.00 \$50.00 \$25.00 \$8,000.00 \$438.00 \$17.400 \$438.00 \$174.00 \$174.00 \$12,900.00 \$120.00 \$240.00 629.0210 630.0140 0.01 CW Fertilizer Type B Seeding Mixture No. 40 \$266.25 \$213.00 1 Lb. 1 Lb. 12 EA 630.0200 632.0101 634.0814 637.0202 Seeding Mixture No. 40 Seeding Temporary Princeton Sentry Ginkgo, 3-4 Inch Posts Tubular Steel 2x2-Inch x 14-FT Signs Reflective Type II \$213.00 \$53.25 \$1,011.75 \$236.43 \$30.89 \$213.00 \$53.25 \$12,141.00 \$472.86 \$1,328.27 2 EA 43 SF 5 EA 2 EA 1 EA 1 EA \$399.40 \$52.06 \$26.63 638.2102 Moving Signs Type II Removing Signs Type II \$79.88 \$26.03 638,2602 \$35.00 \$4,400.00 \$3,250.00 \$0.25 \$0.75 \$0.50 \$1.50 \$0.20 \$0.60 \$0.90 \$1.00 \$0.50 \$65.00 \$1.50 \$55.00 \$100.00 \$5,000.00 638,3000 Removing Small Sign Supports Traffic Control (project) \$26.63 \$25.00 \$26.00 643.0100 \$8,520.00 \$8,520.00 \$1,500.00 \$700.00 \$0.20 \$0.30 \$0.40 \$1.40 \$1.40 \$0.40 \$1.40 \$5.50.00 \$5.50.00 \$1.50 \$550.00 \$1.55 \$55.00 \$1.50 \$1.10 \$1.10 \$1.10 \$1.43 \$1.55 \$3.87 \$4.39 \$5.83 \$15.58 \$4,400.00 \$8,000.00 84,000.00 54,000.00 51,000.00 51,200.00 \$8,500.00 \$1,100.00 \$1,100.00 \$1,00.05 \$1.05 \$1.05 \$1.05 \$1.00 \$2.10 \$2.10 \$2.10 \$1.60 \$55.00 \$1.15 \$1.15 \$2.10 \$1.15 \$2.10 \$1.15 \$2.10 \$1.15 \$1.15 \$2.10 \$1.15 \$1.15 \$2.10 \$1.15 \$1.15 \$1.00 \$1.15 \$1 \$8,500.00 \$8,520.00 \$1,065.00 \$0.35 \$1.07 \$0.64 \$10.65 \$2.13 \$0.61 \$4,400.00 \$3,520.10 \$365.00 \$285.00 \$43.50 \$645.00 \$90.00 \$80.00 1 EA 1 Days 1460 Days 380 Days 290 Days Traffic Control Detour Traffic Control Detour Traffic Control Drums Traffic Control Barricades Type III Traffic Control Warning Lights Type C Traffic Control Signs 643.0200 \$1,065.00 \$11.00 \$185.60 \$1385.60 \$1385.70 \$409.60 \$379.20 \$217.80 \$266.25 \$138.50 \$247.80 \$266.25 \$138.50 \$247.80 \$266.25 \$138.50 \$247.80 \$266.25 \$138.50 \$247.80 \$266.25 \$148.20 \$268.60 \$248.60 \$258.58 \$46.75 \$566.60 \$187.20 \$345.60 \$2,982.88 \$46.75 \$388.125 \$1,000.52 \$3,881.25 \$1,000.52 \$3,881.25 \$1,000.52 \$1,000.55 \$1,000.55 \$1,000.55 \$1,000.55 \$1,000.55\$1,000. 53,520,10 53,520,10 50,25 50,25 50,75 50,75 50,55 50,55 51,55 50,50 51,55 55,00 55,00 55,00 55,00 55,00 55,00 55,00 55,00 51,55 55,58 5 \$3,250.00 \$365.00 \$285.00 \$43.50 \$90.00 \$90.00 \$388.00 \$355.50 \$110.00 \$2.50 \$25.00 \$25.00 \$44.00 \$25.00 \$44.00 \$25.00 \$339.46 \$3,643.75 \$3,643.75 \$3,053.44 \$2,102.58 \$2,670.00 \$1,000,000 \$1,000,000 \$1,000 \$1,000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,0000 \$10,00000 \$10,00000 \$10,00000 \$10,0000 \$10,0000 \$10,00000 \$10,00000 \$10, \$1,100.00 \$511.00 \$399.00 \$188.50 \$1,354.50 \$660.00 \$4416.00 \$220.00 \$275.00 \$275.00 \$275.00 \$275.00 \$275.00 \$275.00 \$255.00 \$55.00 \$55.00 \$55.00 \$55.00 \$55.00 \$360.00 \$55.00 \$360.00 \$375.00 \$360.00 \$300.00 643.0200 643.0300 643.0420 643.0715 643.0900 1290 Day Traffic Control Covering Signs Traffic Control Detour Signs 60 Days 400 Days 643.3000 \$240.00 \$576.00 \$395.00 \$325.00 \$4.00 \$15.00 \$7,150.00 \$0.80 \$60.50 \$528.00 640 LF 395 LF 110 LF 5 EA 2 EA 10 LF \$2.13 \$0.64 \$1.98 \$53.25 \$69.25 \$2.13 \$1.60 \$58.58 646.0103 646.0123 Pavement Marking Paint 4-Inch Pavement Marking Paint 8-Inch \$384.00 \$3355.00 \$250.00 \$130.00 \$130.00 \$155.00 \$44.00 \$5528.00 \$176.00 \$176.00 \$176.00 \$176.00 \$180.00 \$176.00 \$2,811.88 \$3939.46 \$3,643.75 \$1,059.44 \$2,120.58 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,302.05 \$2,670.00 \$1,055.55 \$3,000.05 \$1,050.85 \$2,670.00 \$1,050.05 \$2,670.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$2,570.00 \$1,140.55 \$1,500.85 \$1,5 646.0123 646.0600 647.0163 647.0353 647.0453 Pavement Marking Paint 8-inch Removing Pavement Markings Pavement Marking Arrows Paint Type 2 Pavement Marking Words Paint Pavement Marking Curb Paint 647.0563 647.0603 130 LF 1 EA Pavement Marking Stop Line Paint 18-Inch Pavement Marking Island Nose Paint 647.0653 647.0773 55 LI Pavement Marking Parking Stall Paint Pavement Marking Crosswalk Paint 12-Inch \$0.85 \$1.17 \$0.80 \$1.10 480 L Pavement Marking Crosswalk Paint 12-hch Pavement Marking Concrete Corrugated Median Paint Temporary Pavement Marking Removable Tape S-inch Conduit Rigid Normetallis Schedule 40 2-hch Conduit Rigid Normetallis Schedule 40 3-hch Conduit Loop Detector Loop Detector Sicher Pail Boxes Stel 12:224-Inch Pail Boxes Stel 12:224-Inch \$528.00 \$176.00 \$324.00 \$2,823.60 \$941.60 \$3,687.50 \$1,060.80 \$2,121.00 \$2,670.00 647.0853 649.0801 652.0225 652.0235 \$1.10 \$1.50 \$3.87 \$4.39 \$5.83 \$15.58 160 SF 180 LF 724 LF 214 LF \$1.17 \$1.92 \$4.12 \$4.68 \$6.21 \$16.59 652.0800 652.0900 625 LF 68 LF \$15.58 \$353.43 \$445.00 \$603.00 \$450.00 \$660.00 \$1.17 \$1.81 \$17.00 \$370.00 \$4.50 \$500.00 \$700.00 \$1.25 \$2.00 \$2.20 \$0.75 653,0105 6 EA 6 EA \$376.40 \$473.93 \$2,258.40 \$2,843.58 \$353.43 \$445.00 \$603.00 \$450.00 \$1.17 \$1.81 \$2.11 \$0.71 \$0.86 \$1.61 \$0.83 \$0.73 \$65.81 \$75.00 \$1.85 \$353.43 \$445.00 \$400.00 \$500.00 653.0120 Pull Boxes Steel 18x24-Inch \$2,670.00 \$2,412.00 \$900.00 \$1,320.00 \$392.40 \$273.80 \$348.60 \$348.75 \$2,670.00 \$2,412.00 \$900.00 \$1,320.00 \$382.59 \$267.88 \$350.26 \$330.15 \$3,000.00 \$2,380.00 \$920.00 \$1,470.00 \$376.05 \$185.00 \$332.00 \$348.75 Pull Boxes Steel Tex24-Inch Pull Boxes Steel, Grounded, 24x36-Inch Concrete Bases Type 1 Concrete Bases Type 2 Cable Traffic Signal 7-14 AWG Cable Traffic Signal 12-14 AWG \$2,843.58 \$2,568.80 \$958.50 \$1,405.80 \$408.75 \$285.64 \$595.00 \$460.00 \$735.00 \$1.15 \$1.25 653.0135 4 EA 2 EA 2 EA \$642.20 \$479.25 \$702.90 \$1.25 \$1.93 \$2.25 \$0.76 \$0.76 \$0.92 \$1.71 \$0.88 \$0.78 \$70.09 \$70.09 \$70.09 \$79.88 \$2.25 \$2,412.00 \$900.00 \$1,320.00 \$382.59 \$267.88 \$350.26 \$330.15 \$997.60 \$4,669.00 \$4,669.00 \$1,149.55 \$1,500.88 \$65.81 \$900.00 \$2,070.00 \$603.00 \$450.00 \$660.00 \$1.17 \$1.81 \$2.11 \$0.71 \$0.71 \$0.86 \$1.61 \$0.83 \$0.73 \$65.81 \$65.81 \$75.00 \$1.85 653.0135 654.0101 654.0102 655.0240 655.0260 327 LF 148 LF Cable Traffic Signal, 15 Conductor, No. 14 AWG Electrical Wire, Traffic Signal, 10 AWG \$373.50 \$353.40 \$2.00 \$0.75 655.0270 166 LI 465 LI \$2.11 \$0.71 \$365.20 \$348.75 655.0515 \$330.15 \$997.60 \$4,669.00 \$1,149.55 \$1,500.88 \$65.81 \$65.81 \$900.00 \$1,914.75 Electrical Wire, Traffic Signal, 10 AWG Electrical Wire, Lighting, 8 AWG Electrical Wire, Lighting, 4 AWG Loop Detector, Lead In Cable Loop Detector Wire Signal Mounting Hardware Gaslight Drive/Main Street Signal Mounting Hardware Gaslight Drive/Lake Avenue Electrochtic Treerisation \$0.71 \$0.86 \$1.61 \$0.83 \$0.73 \$65.81 \$65.81 \$75.00 \$2.00 \$348.75 \$1,044.00 \$4,640.00 \$1,177.25 \$1,542.00 \$65.85 \$65.85 \$900.00 \$1,914.75 \$348.75 \$1,044.00 \$4,669.00 \$1,177.25 \$1,542.00 \$100.00 \$100.00 \$1,080.00 \$2,070.00 \$0.75 \$0.85 \$1.55 \$1.00 \$0.65 \$510.00 \$510.00 \$90.00 \$3.00 655,0620 1160 LI \$1,067.20 \$4,959.00 \$0.90 \$1.61 \$986.00 \$4,495.00 655.0630 2900 L 655.0700 655.0800 \$4,959.00 \$1,218.80 \$1,603.68 \$70.09 \$70.09 \$4,495.00 \$1,385.00 \$1,336.40 \$510.00 \$510.00 \$1,080.00 \$3,105.00 1385 LI 2056 LI \$0.85 \$0.75 \$100.00 \$100.00 \$90.00 \$2.00 1 L 678.0400 12 E/ Fiber Optic Termination Sawing Concrete Pavement Full Depth 48-Inch Planter \$958.56 \$2,328.75 690.0200 1035 LH \$1.85 \$1,000.00 \$2,100.00 \$1,500.00 \$346.00 \$1,600.00 \$230.00 \$575.00 \$3,000.00 \$1.85 \$1,000.00 \$2,200.00 \$1,480.00 \$320.00 \$1,590.00 \$245.00 \$575.00 \$3,000.00 \$2.00 \$1,200.00 \$3,000.00 \$2,000.00 \$400.00 \$1,800.00 \$200.00 \$1,400.00 \$3,000.00 2 E/ \$283.20 \$2,548.80 \$566.40 \$2,548.80 \$200.00 \$1,800.00 \$2,000.00 \$2,100.00 \$1,000.00 \$1,980.00 \$2,000.00 \$1,980.00 \$2,000.00 \$2,200.00 \$600.00 \$2,100.00 \$1,200.00 \$2,100.00 \$450.00 \$2,315.00 \$900.00 \$2,315.00 \$2,400.00 \$3,000.00 \$1,050.00 \$2,150.00 \$2,100.00 \$2,150.00 48-Inch Planter Park Bench Utter Receptor Utter Receptor Hanging Brackets Install Ornamental Light Poles Relocate Traffic Signal Equipment Gaslight Drive/Main Street Relocate Traffic Signal Equipment Gaslight Drive/Main Street 1 E4 \$2,548.80 \$1,407.15 \$388.50 \$1,450.22 \$244.95 \$2,548.80 \$16,885.80 \$777.00 \$2,900.44 \$1,224.75 \$1,800.00 \$1,400.00 \$350.00 \$1,300.00 \$65.00 \$575.00 \$3,000.00 \$2,100.00 \$18,000.00 \$692.00 \$3,200.00 \$1,150.00 \$1,150.00 \$3,000.00 \$1,980.00 \$1,200.00 \$250.00 \$1,400.00 \$230.00 \$575.00 \$3,000.00 \$1,980.00 \$14,400.00 \$500.00 \$2,800.00 \$1,150.00 \$2,200.00 \$17,760.00 \$640.00 \$3,180.00 \$1,225.00 \$1,150.00 \$3,000.00 \$2,100.00 \$1,500.00 \$350.00 \$1,600.00 \$230.00 \$575.00 \$3,000.00 \$2,000.00 \$2,100.00 \$18,000.00 \$700.00 \$3,200.00 \$1,150.00 \$1,150.00 \$3,000.00 \$2,315.00 \$1,695.00 \$355.00 \$1,649.00 \$800.00 \$1,200.00 \$3,750.00 \$2,315.00 \$20,340.00 \$710.00 \$3,298.00 \$4,000.00 \$2,400.00 \$3,750.00 \$3,000.00 \$24,000.00 \$3,600.00 \$1,000.00 \$2,800.00 \$3,000.00 \$2,150.00 \$1,700.00 \$365.00 \$1,550.00 \$200.00 \$2,150.00 \$20,400.00 \$730.00 \$3,100.00 \$1,000.00 \$2,500.00 \$3,850.00 12 E/ 2 E/ 2 E/ 5 E/ 2 EA 1 LS \$612.38 \$1,224.76 \$3,195.00 \$1,150.00 \$3,000.00 \$1,250.00 \$3,195.00 3,850.00 1 LS \$2,130.00 \$2,130.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2.000.00 \$2,000,00 \$2,000.00 \$2.000.00 \$2,000.00 \$2,350,00 \$2,350.0 \$2,500.00 \$2,500.00 \$2,450.00 \$2,450.00 450 LI Install Fiber Optic Cable 6-Count \$0.9 \$409,50 \$0.85 \$0.71 \$382.50 \$0.85 \$0.71 \$382.50 \$0.85 \$0.71 \$382.50 \$0.85 \$0.75 \$382.50 \$0.85 \$0.71 \$382.50 \$319.50 \$1.00 \$1.00 \$450.00 \$0.85 \$0.75 \$382.50 \$337.50 \$1.05 \$1.05 \$472.50 450 LF Fiber Optic Tracer Cable \$0.76 \$342.00 \$319.50 \$319.50 \$319.50 \$337.50 \$472.50 Total Amount of this Proposal \$218.524.44 \$229,848.14 \$246,063.34 \$247,405,44 \$260,093.34 \$271.806.54 \$275.023.60 \$293.293.10 \$333.303.90

Gaslight Drive Renovations CONTRACT NUMBER 10-07(K7-010)

Receive bids: Thursday, March 22, 2007, Room 303, 2:00 PM Loca Office of the Commissioner of Public Works Racine, WI

QUANTITY ITEM UNIT COST OTAL COST INIT COST OTAL COST INIT COST OTAL 1 204.0100 930 SY Removing Pavement \$3.00 \$2,790.00 \$4.90 \$4,557.00 \$4.55 \$4.2 2 204.0150 750 LF Removing Concrete Sidewalk \$5.00 \$3,75.00 \$3,50 \$2,625.00 \$3.50 \$2,425.00 \$4.00 \$3,300.00 \$5.50 \$4,44 204.0155 EA Removing Concrete Bases \$75.00 \$375.00 \$75.00 \$375.00					======================================	,		, I	Milwaukee Milwaukee 5% Bid Bo	General Con , WI nd
2 204.0150 750 LF Removing Curb & Gutter \$4.50 \$3,375.00 \$3.50 \$2,625.00 \$3.50 \$2,413 3 204.0155 S2 SY Removing Concrete Sidewalk \$5.00 \$4,125.00 \$4.00 \$3,300.00 \$5.50 \$4,14 4 204.0195 5 EA Removing Concrete Bases \$75.00 \$375.00 \$375.00 \$375.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$575.00 \$375.00 \$375.00 \$575.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$375.00 \$300.00 \$32,000.00 \$32,000.00 \$32,000.00 \$32,000.00 \$31.20 \$32,640.00 \$30.00 \$32,640.00 \$375.00 \$30.00 \$32,264.00 \$375.0			QUANTITY	ITEM	UNIT COST	OTAL COST	JNIT COST	OTAL COST	JNIT COST	OTAL COST
3 204.0155 825 SY Removing Concrete Sidewalk \$5.00 \$4,125.00 \$4.00 \$3,300.00 \$5.50 \$4,4 4 204.0195 5 EA Removing Concrete Bases \$75.00 \$300.00 \$1,200.00 \$1,200.00 \$3,000.00 \$1,200.00 \$3,000.00 \$1,000 \$3,000.00 \$3,000.00 \$31.00 \$3,000.00 \$31.00 \$3,000.00 \$1,000 \$3,000.00 \$1,000 \$3,240.00 \$240.00 \$4	1	204.0100	930 SY	Removing Pavement	\$3.00	\$2,790.00	\$4.90	\$4,557.00	\$4.55	\$4,231.50
4 204.0195 5 EA Removing Concrete Bases \$75.00 \$375.00 \$75.00 \$375.00 \$75.00 \$375.00 \$75.00 \$375.00 \$75.00 \$375.00 \$75.00 \$375.00 \$75.00 \$31.00 \$300.00 \$32.000.00 \$32.000.00 \$32.000 \$32.000 \$32.000 \$32.000 \$32.000 \$32.000 \$375.00 \$375.00 \$375.00 \$31.00 \$31.00 \$31.00 \$31.00 \$31.00 \$31.00 \$31.00 \$31.00 \$31.00 \$3	2	204.0150	750 LF	Removing Curb & Gutter	\$4.50	\$3,375.00	\$3.50	\$2,625.00	\$3.50	\$2,625.00
5 5 EA Removing Signal Pull Boxes \$75.00 \$375.00 \$75.00 \$300.00 \$375.00 \$300.00 \$375.00 \$300.00 \$375.00 \$300.00 \$375.00 \$300.00 \$375.00 \$300.00 \$310.00 <t< td=""><td>3</td><td>204.0155</td><td>825 SY</td><td>Removing Concrete Sidewalk</td><td>\$5.00</td><td>\$4,125.00</td><td>\$4.00</td><td>\$3,300.00</td><td>\$5.50</td><td>\$4,537.50</td></t<>	3	204.0155	825 SY	Removing Concrete Sidewalk	\$5.00	\$4,125.00	\$4.00	\$3,300.00	\$5.50	\$4,537.50
6 204.0220 3 EA Removing Inlets \$350.00 \$1,050.00 \$400.00 \$1,200.00 \$400.00 \$1,200.00 \$2,000.00 \$1,000.00 \$2,000.00 \$2,000.00 \$2,0	4	204.0195	5 EA	Removing Concrete Bases	\$75.00	\$375.00	\$75.00	\$375.00	\$75.00	\$375.00
7 213.0100 1 EA Finishing Roadway (project) \$3,500.00 \$3,000.00 \$3,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 \$3,000.00 \$4,000 \$3,000.00 \$4,000 \$3,000.00 \$4,000 \$4,000 \$4,000 \$4,000 \$4,000 \$4,000 \$4,000 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 <td>5</td> <td></td> <td>5 EA</td> <td>Removing Signal Pull Boxes</td> <td>\$75.00</td> <td>\$375.00</td> <td>\$75.00</td> <td>\$375.00</td> <td>\$75.00</td> <td>\$375.00</td>	5		5 EA	Removing Signal Pull Boxes	\$75.00	\$375.00	\$75.00	\$375.00	\$75.00	\$375.00
8 305.0110 30 Ton Base Aggregate Dense 3/4-Inch \$16.00 \$480.00 \$16.00 \$480.00 \$30.00 \$3 9 305.0120 15 Ton Base Aggregate Dense 1 1/4-Inch \$16.00 \$240.00 \$30.00 \$3 10 415.0090 960 SY Concrete Pavement 9-Inch \$36.00 \$34,560.00 \$32,640.00 \$47.60 \$45,1 11 80 SY Colored Concrete Pavement 9-Inch \$82.00 \$6,560.00 \$9.45 \$756.00 \$70.00 \$5,1 12 45 SY Concrete Driveway 7-Inch Special \$72.00 \$3,240.00 \$29.00 \$1,305.00 \$68.00 \$31.13 14 416.0620 86 A Pavement Dowel Bars \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1,1 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,178.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5,17 16 601.0409 345 LF Concrete Gurb & Gutter 30-Inch Type A \$15.00 \$17.50 \$3.35 \$2,093.75	6	204.0220	3 EA	Removing Inlets	\$350.00	\$1,050.00	\$400.00	\$1,200.00	\$400.00	\$1,200.00
9 305.0120 15 Ton Base Aggregate Dense 1 1/4-Inch \$16.00 \$240.00 \$16.00 \$240.00 \$30.00 \$4 10 415.0090 960 SY Concrete Pavement 9-Inch \$36.00 \$34,560.00 \$34.00 \$32,640.00 \$47.60 \$45,6 11 80 SY Colored Concrete Pavement 9-Inch \$82.00 \$6,560.00 \$9.45 \$775.00 \$770.00 \$5,1 12 45 SY Concrete Driveway 7-Inch Special \$72.00 \$3,240.00 \$20.00 \$1,305.00 \$68.00 \$3,1 13 416.0610 160 EA Pavement Ties \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1, 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1,7 16 601.0409 345 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5,7 16 602.0410 625 SF Concrete Sidewalk 5-Inch Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4,495 \$3,1	7	213.0100	1 EA	Finishing Roadway (project)	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
10 415.0090 960 SY Concrete Pavement 9-Inch \$36.00 \$34,560.00 \$34.00 \$32,640.00 \$47.60 \$45,6 11 80 SY Colored Concrete Pavement 9-Inch \$82.00 \$6,560.00 \$9.45 \$756.00 \$70.00 \$5,1 12 45 SY Concrete Driveway 7-Inch Special \$72.00 \$3,240.00 \$29.00 \$1,305.00 \$68.00 \$34,10 13 416.0610 160 EA Pavement Ties \$80.00 \$1,280.00 \$5.00 \$800.00 \$4.55 \$1 14 416.0620 86 EA Pavement Dowel Bars \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1,1 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$25.95 \$5,7 17 601.0409 345 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5,7 18 602.0410 625 SF Concrete Sidewalk 5-Inch Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,4 <	8	305.0110	30 Ton	Base Aggregate Dense 3/4-Inch	\$16.00	\$480.00	\$16.00	\$480.00	\$30.00	\$900.00
11 80 SY Colored Concrete Pavement 9-Inch \$82.00 \$6,560.00 \$9.45 \$756.00 \$70.00 \$5,1 12 45 SY Concrete Driveway 7-Inch Special \$72.00 \$3,240.00 \$29.00 \$1,305.00 \$68.00 \$3,3 13 416.0610 160 EA Pavement Ties \$80.0 \$1,280.00 \$5.00 \$800.00 \$4.55 \$3,14 14 416.0620 86 EA Pavement Dowel Bars \$10.00 \$860.00 \$77.20 \$619.20 \$12.65 \$1,1 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1,7 16 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9 \$3,4 18 602.0410 625 SF Concrete Sidewalk 5-Inch Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,4 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00	9	305.0120	15 Ton	Base Aggregate Dense 1 1/4-Inch	\$16.00	\$240.00	\$16.00	\$240.00	\$30.00	\$450.00
12 45 SY Concrete Driveway 7-Inch Special \$72.00 \$3,240.00 \$29.00 \$1,305.00 \$68.00 \$3,1 13 416.0610 160 EA Pavement Ties \$8.00 \$1,280.00 \$5.00 \$800.00 \$4.55 \$1 14 416.0620 86 EA Pavement Dowel Bars \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1, 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1, 7 16 601.0405 200 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5, 17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9, 18 602.0410 625 SF Concrete Sidewalk 5-Inch Gaslight Drive \$3.30 \$2,187.50 \$3.33 \$2,093.75 \$4.95 \$3,4 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$3,90.00 \$3,90.00	10	415.0090	960 SY	Concrete Pavement 9-Inch	\$36.00	\$34,560.00	\$34.00	\$32,640.00	\$47.60	\$45,696.00
13 416.0610 160 EA Pavement Ties \$8.00 \$1,280.00 \$5.00 \$800.00 \$4.55 \$1 14 416.0620 86 EA Pavement Dowel Bars \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1, 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1, 16 601.0405 200 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5, 17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9,0 18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,0 19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64,3 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.	11		80 SY	Colored Concrete Pavement 9-Inch	\$82.00	\$6,560.00	\$9.45	\$756.00	\$70.00	\$5,600.00
14 416.0620 86 EA Pavement Dowel Bars \$10.00 \$860.00 \$7.20 \$619.20 \$12.65 \$1,1 15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1,1 16 601.0405 200 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5,7 17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9,9 18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,4 19 #### SF Concrete Sidewalk 5-Inch Special \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64,3 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$33.00 \$3,2 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,300.0	12		45 SY	Concrete Driveway 7-Inch Special	\$72.00	\$3,240.00	\$29.00	\$1,305.00	\$68.00	\$3,060.00
15 465.0120 18 Ton Asphaltic Surface Driveways and Field E \$118.00 \$2,124.00 \$155.00 \$2,790.00 \$95.00 \$1,7 16 601.0405 200 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5, 17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9,0 18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,0 19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64, 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3, 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$400.00 \$400.00 \$400.00 \$400.00 \$400.00 \$400.00 \$400.00 \$400.00 \$1,900.00 \$1,900.00	13	416.0610	160 EA	Pavement Ties	\$8.00	\$1,280.00	\$5.00	\$800.00	\$4.55	\$728.00
16 601.0405 200 LF Concrete Curb & Gutter 18-Inch Type A \$15.00 \$3,000.00 \$17.00 \$3,400.00 \$25.95 \$5, 17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9,0 18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,000 19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64, 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3,4 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$1,000.00 \$3,800.00 \$1,000.00 \$3,800.00 \$1,000.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00	14	416.0620	86 EA	Pavement Dowel Bars	\$10.00	\$860.00	\$7.20	\$619.20	\$12.65	\$1,087.90
17 601.0409 345 LF Concrete Curb & Gutter 30-Inch Type A \$15.00 \$5,175.00 \$19.00 \$6,555.00 \$27.90 \$9,0 18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,0 19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64,0 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3,3 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,800.00 \$100.00 \$3,800.00 \$100.00 \$3,300.00 \$100.00 \$3,000.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00	15	465.0120	18 Ton	Asphaltic Surface Driveways and Field E	\$118.00	\$2,124.00	\$155.00	\$2,790.00	\$95.00	\$1,710.00
18 602.0410 625 SF Concrete Sidewalk 5-Inch (Gaslight Drive \$3.50 \$2,187.50 \$3.35 \$2,093.75 \$4.95 \$3,19 19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64,9 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3,2 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,800.00 \$100.00 \$3,400.00 \$400.00 \$3,00.00 \$100.00 \$3,300.00 \$1,000.00 \$3,000.00 \$1,000.00 \$3,000.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,200.00	16	601.0405	200 LF	Concrete Curb & Gutter 18-Inch Type A	\$15.00	\$3,000.00	\$17.00	\$3,400.00	\$25.95	\$5,190.00
19 #### SF Concrete Sidewalk 5-Inch Special \$6.50 \$66,040.00 \$7.15 \$72,644.00 \$6.35 \$64,4 20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3,4 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,800.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00	17	601.0409	345 LF	Concrete Curb & Gutter 30-Inch Type A	\$15.00	\$5,175.00	\$19.00	\$6,555.00	\$27.90	\$9,625.50
20 602.0505 88 SF Curb Ramp Detectable Warning Field Yel \$38.00 \$3,344.00 \$30.00 \$2,640.00 \$39.00 \$3,3 21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (\$64.00 \$2,432.00 \$100.00 \$3,800.00 \$100.00 \$3,400.00 \$400.00 <td>18</td> <td>602.0410</td> <td>625 SF</td> <td>Concrete Sidewalk 5-Inch (Gaslight Drive</td> <td>\$3.50</td> <td>\$2,187.50</td> <td>\$3.35</td> <td>\$2,093.75</td> <td>\$4.95</td> <td>\$3,093.75</td>	18	602.0410	625 SF	Concrete Sidewalk 5-Inch (Gaslight Drive	\$3.50	\$2,187.50	\$3.35	\$2,093.75	\$4.95	\$3,093.75
21 608.0312 38 LF Storm Sewer Pipe Reinforced Concrete (1 EA \$64.00 \$2,432.00 \$100.00 \$3,800.00 \$100.00 \$3,400.00 22 1 EA Culvert Pipe Concrete Collar \$515.00 \$515.00 \$400.00	19		#### SF	Concrete Sidewalk 5-Inch Special	\$6.50	\$66,040.00	\$7.15	\$72,644.00	\$6.35	\$64,516.00
22 1 EA Culvert Pipe Concrete Collar \$515.00 \$400.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,900.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$2,200 \$2,250.00 \$1,200.00 \$2,200.00 \$2,250.00 \$1,200.00 \$2,200.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 <td< td=""><td>20</td><td>602.0505</td><td>88 SF</td><td>Curb Ramp Detectable Warning Field Ye</td><td>\$38.00</td><td>\$3,344.00</td><td>\$30.00</td><td>\$2,640.00</td><td>\$39.00</td><td>\$3,432.00</td></td<>	20	602.0505	88 SF	Curb Ramp Detectable Warning Field Ye	\$38.00	\$3,344.00	\$30.00	\$2,640.00	\$39.00	\$3,432.00
23 611.0201 1 EA Manholes Type 1 \$1,500.00 \$1,900.00 <td>21</td> <td>608.0312</td> <td>38 LF</td> <td>Storm Sewer Pipe Reinforced Concrete (</td> <td>\$64.00</td> <td>\$2,432.00</td> <td>\$100.00</td> <td>\$3,800.00</td> <td>\$100.00</td> <td>\$3,800.00</td>	21	608.0312	38 LF	Storm Sewer Pipe Reinforced Concrete (\$64.00	\$2,432.00	\$100.00	\$3,800.00	\$100.00	\$3,800.00
24 611.0301 3 EA Inlets Type 1 \$1,100.00 \$3,300.00 \$1,200.00 \$3,600.00 \$1,200.00 \$3,00.00 25 611.0430 1 EA Reconstructing Inlets \$500.00 \$500.00 \$1,200.00 \$2,220.00 \$1,200.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00 \$2,220.00	22		1 EA	Culvert Pipe Concrete Collar	\$515.00	\$515.00	\$400.00	\$400.00	\$400.00	\$400.00
25 611.0430 1 EA Reconstructing Inlets \$500.00 \$500.00 \$1,200.00 \$2,200 \$1,200.00 \$2,200.00 \$1,200.00 \$2,200.00 \$1,200.00 \$2,200.00 \$1,200.00 \$2,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 <t< td=""><td>23</td><td>611.0201</td><td>1 EA</td><td>Manholes Type 1</td><td>\$1,500.00</td><td>\$1,500.00</td><td>\$1,900.00</td><td>\$1,900.00</td><td>\$1,900.00</td><td>\$1,900.00</td></t<>	23	611.0201	1 EA	Manholes Type 1	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00	\$1,900.00	\$1,900.00
26611.05301 EAManhole Covers Type J\$240.00\$240.00\$450.00	24	611.0301	3 EA	Inlets Type 1	\$1,100.00	\$3,300.00	\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.00
27 611.0666 3 EA Inlet Covers Type Z \$320.00 \$960.00 \$750.00 \$2,250.00 \$750.00 \$2,250.00	25	611.0430	1 EA	Reconstructing Inlets	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
28612.0106515 LFPipe Underdrain 6-Inch\$8.50\$4,377.50\$8.50\$4,377.50\$9.00\$4,029250 LFFence Safety\$5.00\$1,250.00\$5.00\$1,250.00\$2.50\$0	26	611.0530	1 EA	Manhole Covers Type J	\$240.00	\$240.00	\$450.00	\$450.00	\$450.00	\$450.00
29 250 LF Fence Safety \$5.00 \$1,250.00 \$2.50 \$	27	611.0666	3 EA	Inlet Covers Type Z	\$320.00	\$960.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00
•	28	612.0106	515 LF	Pipe Underdrain 6-Inch	\$8.50	\$4,377.50	\$8.50	\$4,377.50	\$9.00	\$4,635.00
30 619.1000 1 EA Mobilization \$8,600.00 \$8,600.00 \$5,000.00 \$5,000.00 \$4,840.00 \$4,	29		250 LF	Fence Safety	\$5.00	\$1,250.00	\$5.00	\$1,250.00	\$2.50	\$625.00
	30	619.1000	1 EA	Mobilization	\$8,600.00	\$8,600.00	\$5,000.00	\$5,000.00	\$4,840.00	\$4,840.00

21	(20.0100	400 85	Concrete Corrugated Median	¢5 00	¢0 000 00	¢5 00	¢2 000 00	¢0.00	¢2 560 00
31 32	620.0100 620.0300	400 SF 31 SF	Concrete Corrugated Median Concrete Median Sloped Nose	\$5.80 \$5.80	\$2,320.00 \$179.80	\$5.00 \$6.00	\$2,000.00 \$186.00	\$8.90 \$10.00	\$3,560.00 \$310.00
32 33	625.0100		Topsoil	\$5.00 \$15.00	\$750.00	\$15.84	\$792.00	\$10.00 \$5.00	\$310.00 \$250.00
33 34	627.0200	50 SY	Mulching	\$13.00 \$2.00	\$100.00	\$13.84 \$2.10	\$105.00	\$ 5.00 \$0.25	\$230.00 \$12.50
34	627.0200 628.1905	1 EA	Mobilizations Erosion Control	\$2.00 \$50.00	\$50.00	\$211.20	\$211.20	\$0.25 \$150.00	\$12.50
33 36	628.1903 628.1910	1 EA		\$50.00 \$50.00	\$50.00	\$211.20 \$211.20	\$211.20 \$211.20	\$150.00 \$150.00	\$150.00 \$150.00
30 37	628.7015		Inlet Protection Type C	\$30.00 \$100.00	\$500.00	\$106.00	\$530.00	\$150.00 \$50.00	\$150.00 \$250.00
38			[•] Fertilizer Type B	\$1,000.00 \$1,000.00		\$1,056.00	\$330.00 \$10.56	\$30.00 \$100.00	\$250.00 \$1.00
30 39	630.0140		Seeding Mixture No. 40	\$1,000.00 \$25.00	\$25.00	\$26.40	\$26.40	\$100.00 \$20.00	\$1.00 \$20.00
39 40	630.0200		Seeding Temporary	\$23.00 \$1.00	\$23.00 \$1.00	\$26.40	\$26.40	\$20.00 \$10.00	\$20.00 \$10.00
40 41	632.0101		Princeton Sentry Ginkgo, 3-4 Inch	\$600.00	\$7,200.00	\$633.60	\$7,603.20	\$525.00	\$6,300.00
42	634.0814		Posts Tubular Steel 2x2-Inch x 14-FT	\$250.00	\$500.00	\$264.00	\$528.00	\$130.00	\$260.00
43	637.0202		Signs Reflective Type II	\$18.00	\$774.00	\$19.00	\$817.00	\$21.00	\$903.00
44	638.2102		Moving Signs Type II	\$20.00	\$100.00	\$20.00	\$100.00	\$60.00	\$300.00
45	638.2602		Removing Signs Type II	\$25.00	\$50.00	\$25.00	\$50.00	\$35.00	\$70.00
46	638.3000		Removing Small Sign Supports	\$25.00 \$25.00	\$25.00	\$25.00	\$25.00	\$35.00 \$35.00	\$35.00
47	643.0100		Traffic Control (project)	\$1,500.00	\$1,500.00	\$8,000.00	\$8,000.00	\$4,400.00	\$4,400.00
48	643.0200		raffic Control Detour	\$700.00		\$1,000.00	\$1,000.00	\$3,250.00	\$3,250.00
49			r Traffic Control Drums	\$0.20	\$292.00	\$0.30	\$438.00	\$0.25	\$365.00
50	643.0420	-	Traffic Control Barricades Type III	\$0.30	\$114.00	\$1.00	\$380.00	\$0.75	\$285.00
51	643.0715	-	Traffic Control Warning Lights Type C	\$0.10	\$29.00	\$0.60	\$174.00	\$0.15	\$43.50
52		•	Traffic Control Signs	\$0.40	\$516.00	\$10.00	\$12,900.00	\$0.50	\$645.00
53	0 10102 00	•	r Traffic Control Covering Signs	\$1.00	\$60.00	\$2.00	\$120.00	\$1.50	\$90.00
54	643.3000	•	r Traffic Control Detour Signs	\$0.40	\$160.00	\$0.60	\$240.00	\$0.20	\$80.00
55	646.0103	•	Pavement Marking Paint 4-Inch	\$0.60	\$384.00	\$0.90	\$576.00	\$0.60	\$384.00
56	646.0123		Pavement Marking Paint 8-Inch	\$0.90	\$355.50	\$1.00	\$395.00	\$0.90	\$355.50
57	646.0600		Removing Pavement Markings	\$1.85	\$203.50	\$50.00	\$5,500.00	\$1.00	\$110.00
58	647.0163		Pavement Marking Arrows Paint Type 2	\$50.00	\$250.00	\$65.00	\$325.00	\$0.50	\$2.50
59	647.0353	2 EA		\$65.00	\$130.00	\$2.00	\$4.00	\$65.00	\$130.00
60	647.0453	10 LF	Pavement Marking Curb Paint	\$2.00	\$20.00	\$1.50	\$15.00	\$2.00	\$20.00
61	647.0563	130 LF	Pavement Marking Stop Line Paint 18-Inc	\$1.50	\$195.00	\$55.00	\$7,150.00	\$1.50	\$195.00
62	647.0603	1 EA	Pavement Marking Island Nose Paint	\$55.00	\$55.00	\$0.80	\$0.80	\$55.00	\$55.00
63	647.0653	55 LF	Pavement Marking Parking Stall Paint	\$0.80	\$44.00	\$1.10	\$60.50	\$0.80	\$44.00
64	647.0773	480 LF	Pavement Marking Crosswalk Paint 12-Ir	\$1.10	\$528.00	\$1.10	\$528.00	\$1.10	\$528.00
65	647.0853	160 SF	Pavement Marking Concrete Corrugated	\$1.10	\$176.00	\$1.10	\$176.00	\$1.10	\$176.00
66	649.0801		Temporary Pavement Marking Removable	\$2.25	\$405.00	\$1.80	\$324.00	\$1.50	\$270.00
67	652.0225	724 LF	Conduit Rigid Nonmetallic Schedule 40	\$3.87	\$2,801.88	\$3.90	\$2,823.60	\$3.87	\$2,801.88
68	652.0235	214 LF	Conduit Rigid Nonmetallic Schedule 40	\$4.39	\$939.46	\$4.40	\$941.60	\$4.39	\$939.46
69	652.0800	625 LF	Conduit Loop Detector	\$5.83	\$3,643.75	\$5.90	\$3,687.50	\$5.83	\$3,643.75
70	652.0900	68 LF	Loop Detector Slots	\$15.58	\$1,059.44	\$15.60	\$1,060.80	\$15.58	\$1,059.44
71	653.0105	6 EA	Pull Boxes Steel 12x24-Inch	\$353.43	\$2,120.58	\$353.50	\$2,121.00	\$353.43	\$2,120.58
72	653.0120	6 EA	Pull Boxes Steel 18x24-Inch	\$445.00	\$2,670.00	\$445.00	\$2,670.00	\$445.00	\$2,670.00
73	653.0135	4 EA	Pull Boxes Steel, Grounded, 24x36-Inch	\$603.00	\$2,412.00	\$603.00	\$2,412.00	\$603.00	\$2,412.00

74	654.0101	2 EA	Concrete Bases Type 1	\$450.00	\$900.00	\$450.00	\$900.00	\$450.00	\$900.00
75	654.0102		Concrete Bases Type 2	\$660.00	\$1,320.00	\$660.00	\$1,320.00	\$660.00	\$1,320.00
76	655.0240	327 LF	Cable Traffic Signal 7-14 AWG	\$1.17	\$382.59	\$1.20	\$392.40	\$1.17	\$382.59
77	655.0260	148 LF	Cable Traffic Signal 12-14 AWG	\$1.81	\$267.88	\$1.85	\$273.80	\$1.81	\$267.88
78	655.0270	166 LF	Cable Traffic Signal, 15 Conductor, No. 1	\$2.11	\$350.26	\$2.10	\$348.60	\$2.11	\$350.26
79	655.0515	465 LF	Electrical Wire, Traffic Signal, 10 AWG	\$0.71	\$330.15	\$0.75	\$348.75	\$0.71	\$330.15
80	655.0620	1160 LF	Electrical Wire, Lighting, 8 AWG	\$0.86	\$997.60	\$0.90	\$1,044.00	\$0.86	\$997.60
81	655.0630	2900 LF	Electrical Wire, Lighting, 4 AWG	\$1.61	\$4,669.00	\$1.60	\$4,640.00	\$1.61	\$4,669.00
82	655.0700	1385 LF	Loop Detector, Lead In Cable	\$0.83	\$1,149.55	\$0.85	\$1,177.25	\$0.83	\$1,149.55
83	655.0800	2056 LF	Loop Detector Wire	\$0.73	\$1,500.88	\$0.75	\$1,542.00	\$0.73	\$1,500.88
84		1 LS	Signal Mounting Hardware Gaslight Driv	\$65.81	\$65.81	\$65.85	\$65.85	\$65.81	\$65.81
85		1 LS	Signal Mounting Hardware Gaslight Driv	\$65.81	\$65.81	\$65.85	\$65.85	\$65.81	\$65.81
86	678.0400	12 EA	Fiber Optic Termination	\$75.00	\$900.00	\$75.00	\$900.00	\$75.00	\$900.00
87	690.0200	1035 LF	Sawing Concrete Pavement Full Depth	\$2.00	\$2,070.00	\$1.85	\$1,914.75	\$1.85	\$1,914.75
88		2 EA	48-Inch Planter	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$600.00	\$1,200.00
89		1 EA	Park Bench	\$1,980.00	\$1,980.00	\$2,200.00	\$2,200.00	\$2,100.00	\$2,100.00
90		12 EA	Tree Grate	\$1,200.00	\$14,400.00	\$1,480.00	\$17,760.00	\$1,500.00	\$18,000.00
91		2 EA	Decorative Parking Meter Sleeves	\$250.00	\$500.00	\$320.00	\$640.00	\$350.00	\$700.00
92		2 EA	Litter Receptacle	\$1,400.00	\$2,800.00	\$1,590.00	\$3,180.00	\$1,600.00	\$3,200.00
93		5 EA	Hanging Brackets	\$230.00	\$1,150.00	\$245.00	\$1,225.00	\$230.00	\$1,150.00
94		2 EA	Install Ornamental Light Poles	\$575.00	\$1,150.00	\$575.00	\$1,150.00	\$575.00	\$1,150.00
95		1 LS	Relocate Traffic Signal Equipment Gaslic	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
96		1 LS	Relocate Traffic Signal Equipment Gaslic	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
97		450 LF	Install Fiber Optic Cable 6-Count	\$0.85	\$382.50	\$0.85	\$382.50	\$0.85	\$382.50
98		450 LF	Fiber Optic Tracer Cable	\$0.71	\$319.50	\$0.75	\$337.50	\$0.71	\$319.50
			Total Amount of this Proposal		\$247,405.44		\$260,093.34		\$271,806.54

GASLIGHT DRIVE RENOVATIONS (R1) CONTRACT NUMBER 10-07 (K7-010)

Receive bids: Thursday, March 22, 2007, Room 303, 2:00 PM Local Time Office of the Commissioner of Public Works

Racine, WI

			Cornerstone Racine, WI 5% Bid Bond	Pavers LLC	LaLonde Co Milwaukee, 5% Bid Bon	ontractors, In WI d	Mann Bros. Elkhorn, Wl 5% Bid Bon	., Inc. I Id	A.W. Oakes Racine, WI 5% Bid Bon	& Son, Inc. d	Platt Cons Franklin, V 5% Bid Bo	truction, Inc. VI nd	Milw. Gene Milwaukee, 5% Bid Bor	ral Const. Co., lı WI nd	<mark>Black Diamon</mark> Oak Creek, W 5% Bid Bond	I
	QUANTITY		JNIT COST	TOTAL COST										TOTAL COST		
1 204.0100	930 SY	Removing Pavement	\$4.65	\$4,324.50	\$4.00	\$3,720.00	\$3.00	\$2,790.00	\$4.90	\$4,557.00	\$5.12	\$4,761.60	\$4.55	\$4,231.50	\$7.00	\$6,510.00
2 204.0150	750 LF	Removing Curb & Gutter	\$3.00	\$2,250.00	\$3.00	\$2,250.00	\$4.50	\$3,375.00	\$3.50	\$2,625.00	\$4.37	\$3,277.50	\$3.50	\$2,625.00	\$3.60	\$2,700.00
3 204.0155	825 SY	Removing Concrete Sidewalk	\$4.00	\$3,300.00	\$2.65	\$2,186.25	\$5.00	\$4,125.00	\$4.00	\$3,300.00	\$4.37	\$3,605.25	\$5.50	\$4,537.50	\$6.00	\$4,950.00
4 204.0195	5 EA	Removing Concrete Bases	\$75.00	\$375.00	\$75.00	\$375.00	\$75.00	\$375.00		\$375.00		\$399.40	\$75.00	\$375.00	\$100.00	\$500.00
5	5 EA	Removing Signal Pull Boxes	\$75.00	\$375.00	\$75.00	\$375.00	\$75.00	\$375.00	\$75.00	\$375.00	\$79.88	\$399.40	\$75.00	\$375.00	\$100.00	\$500.00
6 204.0220		Removing Inlets	\$300.00	\$900.00	\$350.00	\$1,050.00	\$350.00	\$1,050.00	\$400.00	\$1,200.00		\$1,062.00	\$400.00	\$1,200.00	\$400.00	\$1,200.00
7 213.0100	1 EA	Finishing Roadway (project)	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00	\$3,000.00	\$3,000.00	\$1,770.00	\$1,770.00	\$2,000.00	\$2,000.00	\$700.00	\$700.00
8 305.0110		Base Aggregate Dense 3/4-Inch	\$20.00	\$600.00	\$11.00	\$330.00		\$480.00	\$16.00	\$480.00	\$13.82	\$414.60	\$30.00	\$900.00	\$30.00	\$900.00
9 305.0120	15 Ton	Base Aggregate Dense 1 1/4-Inch	\$20.00	\$300.00	\$10.00	\$150.00	\$16.00	\$240.00	\$16.00	\$240.00	\$13.87	\$208.05	\$30.00	\$450.00	\$30.00	\$450.00
10 415.0090		Concrete Pavement 9-Inch	\$28.00	\$26,880.00	\$35.00	\$33,600.00	\$36.00	\$34,560.00	\$34.00	\$32,640.00		\$27,360.00		\$45,696.00	\$36.00	\$34,560.00
11	80 SY	Colored Concrete Pavement 9-Inch	\$50.00	\$4,000.00	\$78.00	\$6,240.00	\$82.00	\$6,560.00	\$9.45	\$756.00	\$90.00	\$7,200.00	\$70.00	\$5,600.00	\$89.60	\$7,168.00
12	45 SY	Concrete Driveway 7-Inch Special	\$39.00	\$1,755.00	\$78.00	\$3,510.00	\$72.00	\$3,240.00	\$29.00	\$1,305.00	\$61.36	\$2,761.20	\$68.00	\$3,060.00	\$74.80	\$3,366.00
13 416.0610	160 EA	Pavement Ties	\$4.00	\$640.00	\$10.00	\$1,600.00	\$8.00	\$1,280.00	\$5.00	\$800.00	\$6.49	\$1,038.40	\$4.55	\$728.00	\$7.00	\$1,120.00
14 416.0620		Pavement Dowel Bars	\$8.00	\$688.00	\$10.00	\$860.00		\$860.00	\$7.20	\$619.20		\$862.58		\$1,087.90	\$12.00	\$1,032.00
15 465.0120		Asphaltic Surface Driveways and Field Entrances	\$75.00	\$1,350.00		\$1,710.00	-	\$2,124.00		\$2,790.00		\$2,166.30	-	\$1,710.00	\$150.00	\$2,700.00
16 601.0405		Concrete Curb & Gutter 18-Inch Type A	\$18.00	\$3,600.00	\$25.00	\$5,000.00	\$15.00	\$3,000.00	\$17.00	\$3,400.00		\$3,718.00	\$25.95	\$5,190.00	\$17.25	\$3,450.00
17 601.0409		Concrete Curb & Gutter 30-Inch Type A	\$16.00	\$5,520.00		\$6,900.00		\$5,175.00	\$19.00	\$6,555.00		\$8,041.95		\$9,625.50	\$19.00	\$6,555.00
18 602.0410		Concrete Sidewalk 5-Inch (Gaslight Drive Median and Right		\$2,093.75		\$3,125.00		\$2,187.50	\$3.35	\$2,093.75		\$2,325.00		\$3,093.75	\$3.20	\$2,000.00
19		Concrete Sidewalk 5-Inch Special	\$5.50	\$55,880.00		\$61,976.00	-	\$66,040.00	\$7.15	\$72,644.00		\$67,157.60	\$6.35	\$64,516.00	\$6.20	\$62,992.00
20 602.0505		Curb Ramp Detectable Warning Field Yellow	\$35.00	\$3,080.00		\$3,432.00		\$3,344.00	\$30.00	\$2,640.00		\$2,640.00		\$3,432.00	\$36.00	\$3,168.00
21 608.0312		Storm Sewer Pipe Reinforced Concrete Class III 12-Inch	\$79.00	\$3,002.00		\$3,800.00		\$2,432.00		\$3,800.00	\$112.10	\$4,259.80		\$3,800.00	\$100.00	\$3,800.00
22		Culvert Pipe Concrete Collar	\$200.00	\$200.00		\$300.00		\$515.00		\$400.00	+	\$295.00	\$400.00	\$400.00	\$400.00	\$400.00
23 611.0201		Manholes Type 1	\$800.00	\$800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00			\$1,770.00	\$1,770.00	\$1,900.00	\$1,900.00	\$1,900.00	\$1,900.00
24 611.0301		Inlets Type 1	\$1,300.00	\$3,900.00		\$3,600.00			\$1,200.00		\$1,357.00		\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.00
25 611.0430		Reconstructing Inlets	\$450.00	\$450.00		\$750.00			\$1,200.00		\$1,003.00		\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00
26 611.0530		Manhole Covers Type J	\$400.00	\$400.00		\$600.00	• • • •	\$240.00		\$450.00	•	\$442.50	•	\$450.00	\$450.00	\$450.00
27 611.0666		Inlet Covers Type Z	\$400.00	\$1,200.00	•	\$1,500.00		\$960.00		\$2,250.00	•	\$1,593.00		\$2,250.00	\$750.00	\$2,250.0
28 612.0106		Pipe Underdrain 6-Inch	\$7.50	\$3,862.50		\$515.00		\$4,377.50	\$8.50	\$4,377.50		\$2,126.95		\$4,635.00	\$11.00	\$5,665.00
29		Fence Safety	\$0.10	\$25.00	• • •	\$250.00		\$1,250.00	\$5.00	\$1,250.00		\$1,150.00		\$625.00	\$3.10	\$775.0
30 619.1000		Mobilization	\$9,000.00		\$7,000.00	\$7,000.00		\$8,600.00			\$7,500.00		\$4,840.00	\$4,840.00	\$6,000.00	\$6,000.0
31 620.0100		Concrete Corrugated Median	\$7.50	\$3,000.00		\$1,600.00	\$5.80	\$2,320.00	\$5.00	\$2,000.00		\$2,124.00	•	\$3,560.00	\$7.00	\$2,800.0
32 620.0300		Concrete Median Sloped Nose	\$7.50	\$232.50		\$155.00		\$179.80		\$186.00		\$347.51	-	\$310.00	\$10.00	\$310.00
33 625.0100		Topsoil	\$6.00	\$300.00		\$250.00		\$750.00		\$792.00		\$319.50	•	\$250.00	\$7.80	\$390.0
34 627.0200		Mulching	\$1.00	\$50.00		\$12.50	-	\$100.00	\$2.10	\$105.00	\$1.80	\$90.00		\$12.50	\$1.70	\$85.0
35 628.1905		Mobilizations Erosion Control	\$10.00	\$10.00	\$150.00	\$150.00	\$50.00	\$50.00	\$211.20	\$211.20	\$106.50	\$106.50	\$150.00	\$150.00	\$100.00	\$100.00
GASLIGHT D	KIVE REN	OVATIONS (R1)														

CONTRACT NUMBER 10-07 (K7-010)

Receive bids: Thursday, March 22, 2007, Room 303, 2:00 PM Local Time Office of the Commissioner of Public Works Racine, WI

======== =	========	. =====================================	====== ====		======= ==		======= =	=======	======= =	========	======= =:	=========	====== ===			-========
			Cornerstone Pa	vers LLC	LaLonde Con	tractors, In	Mann Bros.,	Inc.	A.W. Oakes &	& Son, Inc.	Platt Constru	uction, Inc.	Milw. General	Const. Co., Ir	Black Diamon	d Group, Inc
			Racine, WI		Milwaukee, W	/I	Elkhorn, WI		Racine, WI		Franklin, WI		Milwaukee, Wl	. (Dak Creek, W	l –
			5% Bid Bond		5% Bid Bond		5% Bid Bond	l	5% Bid Bond	I	5% Bid Bond	b	5% Bid Bond	Ę	5% Bid Bond	
======== :	========		======= ====	========	======= ==		======= =	========	======= =	========	======= =:	==========	====== ===			-=========
36 628.1910	1 EA	Mobilizations Emergency Erosion Control	\$10.00	\$10.00	\$150.00	\$150.00	\$50.00	\$50.00	\$211.20	\$211.20	\$117.15	\$117.15	\$150.00	\$150.00	\$110.00	\$110.00
37 628.7015	5 EA	Inlet Protection Type C	\$40.00	\$200.00	\$50.00	\$250.00	\$100.00	\$500.00	\$106.00	\$530.00	\$53.25	\$266.25	\$50.00	\$250.00	\$50.00	\$250.00
38 629.0210	0.01 CW	T Fertilizer Type B	\$100.00	\$1.00	\$60.00	\$0.60	\$1,000.00	\$10.00	\$1,056.00	\$10.56	\$266.25	\$2.66	\$100.00	\$1.00	\$2,300.00	\$23.00
39 630.0140	1 Lb.	Seeding Mixture No. 40	\$10.00	\$10.00	\$10.00	\$10.00	\$25.00	\$25.00	\$26.40	\$26.40	\$213.00	\$213.00	\$20.00	\$20.00	\$110.00	\$110.00
40 630.0200	1 Lb.	Seeding Temporary	\$10.00	\$10.00	\$8.00	\$8.00	\$1.00	\$1.00	\$26.40	\$26.40	\$53.25	\$53.25	\$10.00	\$10.00	\$110.00	\$110.00
41 632.0101	12 EA	Princeton Sentry Ginkgo, 3-4 Inch	\$900.00	\$10,800.00	\$525.00	\$6,300.00	\$600.00	\$7,200.00	\$633.60	\$7,603.20	\$1,011.75	\$12,141.00	\$525.00	\$6,300.00	\$858.00	\$10,296.00
42 634.0814	2 EA	Posts Tubular Steel 2x2-Inch x 14-FT	\$500.00	\$1,000.00	\$130.00	\$260.00	\$250.00	\$500.00	\$264.00	\$528.00	\$236.43	\$472.86	\$130.00	\$260.00	\$157.00	\$314.00
43 637.0202	66.7 SF	Signs Reflective Type II	\$24.00	\$1,601.28	\$21.00	\$1,401.12	\$18.00	\$1,200.96	\$19.00	\$1,267.68	\$30.89	\$2,060.98	\$21.00	\$1,401.12	\$19.00	\$1,267.68

44 638.2102	5 EA Moving Signs Type II	\$200.00	\$1,000.00	\$60.00	\$300.00	\$20.00	\$100.00	\$20.00	\$100.00	\$79.88	\$399.40	\$60.00	\$300.00	\$75.00	\$375.00
45 638.2602		\$200.00	\$1,000.00	\$35.00	\$300.00 \$70.00	\$20.00 \$25.00	\$50.00	\$20.00 \$25.00	\$50.00	\$79.88 \$26.03	\$399.40 \$52.06	\$35.00	\$70.00	\$75.00 \$35.00	\$70.00
46 638.3000	2 EA Removing Signs Type II 1 EA Removing Small Sign Supports	\$50.00	\$200.00 \$50.00	\$35.00 \$35.00	\$70.00	\$25.00 \$25.00	\$30.00 \$25.00	\$25.00 \$25.00	\$30.00 \$25.00	\$26.63 \$26.63	\$32.00 \$26.63	\$35.00 \$35.00	\$70.00	\$50.00 \$50.00	\$70.00
40 038.3000 47 643.0100		\$3,000.00	\$3,000.00	•	\$35.00 \$4,400.00		\$25.00 \$1,500.00	\$25.00 \$8,000.00	\$25.00 \$8,000.00	• • • •	\$20.03 \$8,520.00	•	\$4,400.00	\$30.00 \$8,000.00	\$30.00
	1 EA Traffic Control (project)			\$4,400.00	. ,	\$1,500.00		. ,			. ,				. ,
48 643.0200	1 Days Traffic Control Detour	\$1,000.00	\$1,000.00	\$3,520.00	\$3,520.00	\$700.00		\$1,000.00	\$1,000.00		\$1,065.00		\$3,250.00	\$1,000.00	\$1,000.00
49 643.0300	1460 Days Traffic Control Drums	\$0.30	\$438.00	\$0.25 \$0.75	\$365.00	\$0.20	\$292.00	\$0.30	\$438.00	\$0.35	\$511.00	\$0.25	\$365.00	\$0.30	\$438.00
50 643.0420	380 Days Traffic Control Barricades Type III	\$1.00	\$380.00	\$0.75	\$285.00	\$0.30	\$114.00	\$1.00	\$380.00	\$1.07	\$406.60	\$0.75	\$285.00	\$1.00	\$380.00
51 643.0715	290 Days Traffic Control Warning Lights Type C	\$0.60	\$174.00	\$0.15	\$43.50	\$0.10	\$29.00	\$0.60	\$174.00	\$0.64	\$185.60	\$0.15	\$43.50	\$0.60	\$174.00
	1290 Days Traffic Control Signs	\$1.00	\$1,290.00	\$0.50	\$645.00	\$0.40	\$516.00	\$1.00	\$1,290.00	\$1.06	\$1,367.40	\$0.50	\$645.00	\$1.00	\$1,290.00
53	60 Days Traffic Control Covering Signs	\$10.00	\$600.00	\$1.50	\$90.00	\$1.00	\$60.00	\$10.00	\$600.00	\$10.65	\$639.00	\$1.50	\$90.00	\$10.00	\$600.00
54 643.3000	400 Days Traffic Control Detour Signs	\$2.00	\$800.00	\$0.20	\$80.00	\$0.40	\$160.00	\$2.00	\$800.00	\$2.13	\$852.00	\$0.20	\$80.00	\$2.00	\$800.00
55 646.0103	640 LF Pavement Marking Paint 4-Inch	\$0.60	\$384.00	\$0.60	\$384.00	\$0.60	\$384.00	\$0.60	\$384.00	\$0.64	\$409.60	\$0.60	\$384.00	\$0.60	\$384.00
56 646.0123	395 LF Pavement Marking Paint 8-Inch	\$0.90	\$355.50	\$0.90	\$355.50	\$0.90	\$355.50	\$0.90	\$355.50	\$0.96	\$379.20	\$0.90	\$355.50	\$0.90	\$355.50
57 646.0600	110 LF Removing Pavement Markings	\$1.00	\$110.00	\$1.85	\$203.50	\$1.85	\$203.50	\$1.00	\$110.00	\$1.98	\$217.80	\$1.00	\$110.00	\$1.00	\$110.00
58 647.0163	5 EA Pavement Marking Arrows Paint Type 2	\$50.00	\$250.00	\$50.00	\$250.00	\$50.00	\$250.00	\$50.00	\$250.00	\$53.25	\$266.25	\$0.50	\$2.50	\$50.00	\$250.00
59 647.0353	2 EA Pavement Marking Words Paint	\$65.00	\$130.00	\$65.00	\$130.00	\$65.00	\$130.00	\$65.00	\$130.00	\$69.25	\$138.50	\$65.00	\$130.00	\$65.00	\$130.00
60 647.0453	10 LF Pavement Marking Curb Paint	\$2.00	\$20.00	\$2.00	\$20.00	\$2.00	\$20.00	\$2.00	\$20.00	\$2.13	\$21.30	\$2.00	\$20.00	\$2.00	\$20.00
61 647.0563	130 LF Pavement Marking Stop Line Paint 18-Inch	\$1.50	\$195.00	\$1.50	\$195.00	\$1.50	\$195.00	\$1.50	\$195.00	\$1.60	\$208.00	\$1.50	\$195.00	\$1.50	\$195.00
62 647.0603	1 EA Pavement Marking Island Nose Paint	\$55.00	\$55.00	\$55.00	\$55.00	\$55.00	\$55.00	\$55.00	\$55.00	\$58.58	\$58.58	\$55.00	\$55.00	\$55.00	\$55.00
63 647.0653	55 LF Pavement Marking Parking Stall Paint	\$0.80	\$44.00	\$0.80	\$44.00	\$0.80	\$44.00	\$0.80	\$44.00	\$0.85	\$46.75	\$0.80	\$44.00	\$0.80	\$44.00
64 647.0773	480 LF Pavement Marking Crosswalk Paint 12-Inch	\$1.10	\$528.00	\$1.10	\$528.00	\$1.10	\$528.00	\$1.10	\$528.00	\$1.17	\$561.60	\$1.10	\$528.00	\$1.10	\$528.00
65 647.0853	160 SF Pavement Marking Concrete Corrugated Median Paint	\$1.10	\$176.00	\$1.10	\$176.00	\$1.10	\$176.00	\$1.10	\$176.00	\$1.17	\$187.20	\$1.10	\$176.00	\$1.10	\$176.00
66 649.0801	180 LF Temporary Pavement Marking Removable Tape 8-Inch	\$1.80	\$324.00	\$1.00	\$180.00	\$2.25	\$405.00	\$1.80	\$324.00	\$1.92	\$345.60	\$1.50	\$270.00	\$1.80	\$324.00
67 652.0225	724 LF Conduit Rigid Nonmetallic Schedule 40 2-Inch	\$3.87	\$2,801.88	\$3.87	\$2,801.88	\$3.87	\$2,801.88	\$3.90	\$2,823.60	\$4.12	\$2,982.88	\$3.87	\$2,801.88	\$4.00	\$2,896.00
68 652.0235	214 LF Conduit Rigid Nonmetallic Schedule 40 3-Inch	\$4.39	\$939.46	\$4.39	\$939.46	\$4.39	\$939.46	\$4.40	\$941.60	\$4.68	\$1,001.52	\$4.39	\$939.46	\$5.00	\$1,070.00
69 652.0800	625 LF Conduit Loop Detector	\$5.83	\$3,643.75	\$5.83	\$3,643.75	\$5.83	\$3,643.75	\$5.90	\$3,687.50	\$6.21	\$3,881.25	\$5.83	\$3,643.75	\$3.50	\$2,187.50
70 652.0900	68 LF Loop Detector Slots	\$15.58	\$1,059.44	\$15.58	\$1,059.44	\$15.58	\$1,059.44	\$15.60	\$1,060.80	\$16.59	\$1,128.12	\$15.58	\$1,059.44	\$13.00	\$884.00
71 653.0105	6 EA Pull Boxes Steel 12x24-Inch	\$353.43	\$2,120.58	\$353.43	\$2,120.58	\$353.43	\$2,120.58	\$353.50	\$2,121.00	\$376.40	\$2,258.40	\$353.43	\$2,120.58	\$390.00	\$2,340.00
72 653.0120	6 EA Pull Boxes Steel 18x24-Inch	\$445.00	\$2,670.00	\$445.00	\$2,670.00	\$445.00	\$2,670.00	\$445.00	\$2,670.00	\$473.93	\$2,843.58	\$445.00	\$2,670.00	\$490.00	\$2,940.00
GASLIGHT D	RIVE RENOVATIONS (R1)		-		-		-						·		·

CONTRACT NUMBER 10-07 (K7-010)

Receive bids: Thursday, March 22, 2007, Room 303, 2:00 PM Local Time Office of the Commissioner of Public Works Racine, WI

			Cornerstone Pa Racine, WI 5% Bid Bond		LaLonde Co Milwaukee, V 5% Bid Bond	NI [,]	Mann Bros. Elkhorn, WI 5% Bid Bon	ĺd	A.W. Oakes Racine, WI 5% Bid Bon		Franklin, WI 5% Bid Bon	d ý	Milwaukee, W 5% Bid Bond	Const. Co., li E /I (Dak Creek, W 5% Bid Bond	d Group, Inc I
73 653.0135	4 EA	Pull Boxes Steel, Grounded, 24x36-Inch	\$603.00	======== \$2,412.00	\$603.00	\$2,412.00	\$603.00	========= \$2,412.00	\$603.00	\$2,412.00		======================================	\$603.00	============ \$2,412.00	======== \$580.00	=========== \$2,320.00
74 654.0101	2 EA	Concrete Bases Type 1	\$450.00	\$900.00	\$450.00	\$900.00	\$450.00	\$900.00	\$450.00	\$900.00	\$479.25	\$958.50	\$450.00	\$900.00	\$450.00	\$900.00
75 654.0102	2 EA	Concrete Bases Type 2	\$660.00	\$1,320.00	\$660.00	\$1,320.00	\$660.00	\$1,320.00	\$660.00	\$1,320.00		\$1,405.80	\$660.00	\$1,320.00	\$720.00	\$1,440.00
76 655.0240	327 LF	Cable Traffic Signal 7-14 AWG	\$1.17	\$382.59	\$1.17	\$382.59	\$1.17	\$382.59	\$1.20	\$392.40	\$1.25	\$408.75	\$1.17	\$382.59	\$1.10	\$359.70
77 655.0260	148 LF	Cable Traffic Signal 12-14 AWG	\$1.81	\$267.88	\$1.81	\$267.88	\$1.81	\$267.88	\$1.85	\$273.80	\$1.93	\$285.64	\$1.81	\$267.88	\$1.70	\$251.60
78 655.0270	166 LF	Cable Traffic Signal, 15 Conductor, No. 14 AWG	\$2.11	\$350.26	\$2.11	\$350.26	\$2.11	\$350.26	\$2.10	\$348.60	• -	\$373.50	\$2.11	\$350.26	\$1.95	\$323.70
79 655.0515		Electrical Wire, Traffic Signal, 10 AWG	\$0.71	\$330.15	\$0.71	\$330.15	\$0.71	\$330.15	\$0.75	\$348.75		\$353.40	\$0.71	\$330.15	\$0.70	\$325.50
80 655.0620		Electrical Wire, Lighting, 8 AWG	\$0.86	\$997.60	\$0.86	\$997.60	\$0.86	\$997.60	\$0.90	\$1,044.00	\$0.92	\$1,067.20	\$0.86	\$997.60	\$0.80	\$928.00
81 655.0630	2900 LF	Electrical Wire, Lighting, 4 AWG	\$1.61	\$4,669.00	\$1.61	\$4,669.00	\$1.61	\$4,669.00	\$1.60	\$4,640.00	\$1.71	\$4,959.00	\$1.61	\$4,669.00	\$1.50	\$4,350.00
82 655.0700	1385 LF	Loop Detector, Lead In Cable	\$0.83	\$1,149.55	\$0.83	\$1,149.55	\$0.83	\$1,149.55	\$0.85	\$1,177.25	\$0.88	\$1,218.80	\$0.83	\$1,149.55	\$0.95	\$1,315.75
83 655.0800	2056 LF	Loop Detector Wire	\$0.73	\$1,500.88	\$0.73	\$1,500.88	\$0.73	\$1,500.88	\$0.75	\$1,542.00	\$0.78	\$1,603.68	\$0.73	\$1,500.88	\$0.60	\$1,233.60
84	1 LS	Signal Mounting Hardware Gaslight Drive/Main Street	\$65.81	\$65.81	\$65.81	\$65.81	\$65.81	\$65.81	\$65.85	\$65.85	\$70.09	\$70.09	\$65.81	\$65.81	\$500.00	\$500.00
85	1 LS	Signal Mounting Hardware Gaslight Drive/Lake Avenue	\$65.81	\$65.81	\$65.81	\$65.81	\$65.81	\$65.81	\$65.85	\$65.85		\$70.09	\$65.81	\$65.81	\$500.00	\$500.00
86 678.0400	12 EA	Fiber Optic Termination	\$75.00	\$900.00	\$75.00	\$900.00	\$75.00	\$900.00	\$75.00	\$900.00	\$79.88	\$958.56	\$75.00	\$900.00	\$88.00	\$1,056.00
87 690.0200	1035 LF	Sawing Concrete Pavement Full Depth	\$1.85	\$1,914.75	\$1.85	\$1,914.75	\$2.00	\$2,070.00	\$1.85	\$1,914.75		\$2,328.75	\$1.85	\$1,914.75	\$1.85	\$1,914.75
88	2 EA	48-Inch Planter	\$200.00	\$400.00	. ,	. ,	\$1,000.00	\$2,000.00		\$2,000.00		\$566.40		\$1,200.00	\$450.00	\$900.00
89	1 EA	Park Bench	\$1,800.00	\$1,800.00	• ,	+ ,	\$1,980.00	\$1,980.00	\$2,200.00	• • • • • •	\$2,548.80	+ ,	\$2,100.00	\$2,100.00	\$2,315.00	\$2,315.00
90	12 EA	Tree Grate	\$1,400.00	\$16,800.00	* /	. ,	\$1,200.00	\$14,400.00	, ,	\$17,760.00	• • •	\$16,885.80		\$18,000.00	\$1,695.00	\$20,340.00
91 92	2 EA	Decorative Parking Meter Sleeves	\$350.00	\$700.00		\$692.00	• • • • •	\$500.00	\$320.00	\$640.00		\$777.00	• • • • • •	\$700.00	\$355.00	\$710.00
92 92	2 EA	Litter Receptacle	\$1,300.00	\$2,600.00	+ ,	\$3,200.00	• • • • • •	\$2,800.00	· · · · · · ·	* - ,	\$1,450.22	+ ,	\$1,600.00	\$3,200.00	\$1,649.00	\$3,298.00
93 94	5 EA	Hanging Brackets	\$65.00	\$325.00	•	\$1,150.00	\$230.00	\$1,150.00	\$245.00	\$1,225.00	•	\$1,224.75		\$1,150.00	\$800.00	\$4,000.00
94 95	2 EA	Install Ornamental Light Poles	\$575.00	\$1,150.00	\$575.00	\$1,150.00	\$575.00	\$1,150.00	\$575.00	\$1,150.00	•	\$1,224.76		\$1,150.00	\$1,200.00	\$2,400.00
95 06	1 LS	Relocate Traffic Signal Equipment Gaslight Drive/Main Stre		\$3,000.00	. ,	\$3,000.00		\$3,000.00	\$3,000.00	. ,	\$3,195.00	. ,	\$3,000.00	\$3,000.00	\$3,750.00	\$3,750.00
96 97	1 LS	Relocate Traffic Signal Equipment Gaslight Drive/Lake Ave		\$2,000.00	. ,	\$2,000.00 \$382.50	\$2,000.00 \$0.85	\$2,000.00 \$382.50	\$2,000.00 \$0.85	. ,	\$2,130.00 \$0.91	. ,	\$2,000.00 \$0.85	\$2,000.00 \$382.50	\$2,350.00	\$2,350.00 \$450.00
97 98	450 LF	Install Fiber Optic Cable 6-Count	\$0.85 \$0.71	\$382.50	\$0.85 \$0.71	•	•		•	\$382.50 \$337.50	•	\$409.50	\$0.85 \$0.71	•	\$1.00 \$1.00	\$450.00 \$450.00
79	450 LF	Fiber Optic Tracer Cable	\$0.71	\$319.50	\$0.71	\$319.50	\$0.71	\$319.50	\$0.75	9337.5U	Φ 0.76	\$342.00	φ υ. / 1	\$319.50	\$1.00	\$450.00

Total Amount of this Proposal \$230,417.42 \$246,561.36 \$247,832.40 \$260,073.34 \$2

======= :		======	==========				
D.C. Burba	ch, Inc	Marvin Gleason Cont., In					
Waukesha	, WI	Franksvill	e, WI				
5% Bid Bo	nd	5% Bid Bo	ond				
======= :			=========				
NIT COST I	OTAL COST	NIT COST	TOTAL COST				
\$6.50	\$6,045.00	\$12.00	\$11,160.00				
\$4.25	\$3,187.50	\$6.00	\$4,500.00				
\$4.50	\$3,712.50	\$10.00	\$8,250.00				
\$125.00	\$625.00	\$105.00	\$525.00				
\$125.00	\$625.00	\$105.00	\$525.00				
\$300.00	\$900.00	\$400.00	\$1,200.00				
\$2,750.00	\$2,750.00	\$2,000.00	\$2,000.00				
\$20.00	\$600.00	\$20.00	\$600.00				
\$25.00	\$375.00	\$20.00	\$300.00				
\$37.85	\$36,336.00	\$42.75	\$41,040.00				
\$115.60	\$9,248.00	\$120.00	\$9,600.00				
\$90.00	\$4,050.00	\$145.00	\$6,525.00				
\$5.50	\$880.00	\$3.00	\$480.00				
\$12.00	\$1,032.00	\$3.75	\$322.50				
\$100.00	\$1,800.00	\$150.00	\$2,700.00				
\$19.90	\$3,980.00	\$23.00	\$4,600.00				
\$21.00	\$7,245.00	\$25.00	\$8,625.00				
\$3.75	\$2,343.75	\$5.00	\$3,125.00				
\$8.00	\$81,280.00	\$9.15	\$92,964.00				
\$38.00	\$3,344.00	\$45.00	\$3,960.00				
\$100.00	\$3,800.00	\$60.00	\$2,280.00				
\$400.00	\$400.00	\$200.00	\$200.00				
\$1,750.00	\$1,750.00	\$1,500.00	\$1,500.00				
\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00				
\$1,000.00	\$1,000.00	\$1,300.00	\$1,300.00				
\$750.00	\$750.00	\$400.00	\$400.00				
\$550.00	\$1,650.00	\$400.00	\$1,200.00				
\$20.00	\$10,300.00	\$25.00	\$12,875.00				
\$3.50	\$875.00	\$5.10	\$1,275.00				
\$6,500.00	\$6,500.00	\$2,500.00	\$2,500.00				
\$6.75	\$2,700.00	\$10.00	\$4,000.00				
\$8.00	\$248.00	\$10.00	\$310.00				
\$8.00	\$400.00	\$15.50	\$775.00				
\$2.00	\$100.00	\$2.50	\$125.00				
\$200.00	\$200.00	\$210.00	\$210.00				
			Page 2				

====== D.C. Burb Waukesha 5% Bid Bo	a, Wİ	====== Marvin Gle Franksvill 5% Bid Be	
======	==========	======	=========
\$500.00	\$500.00	\$250.00	\$250.00
\$75.00	\$375.00	\$110.00	\$550.00
########	\$100.00	\$1,050.00	\$10.50
\$110.00	\$110.00	\$26.00	\$26.00
\$110.00	\$110.00	\$50.00	\$50.00
\$875.00	\$10,500.00	\$615.00	\$7,380.00
\$175.00	\$350.00	\$255.00	\$510.00
\$20.00	\$1,334.40	\$18.50	\$1,234.32

\$75.00	\$375.00	\$21.00	\$105.00
\$50.00	\$100.00	\$26.00	\$52.00
\$100.00	\$100.00	\$26.00	\$26.00
\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
\$1,500.00	\$1,500.00	\$1,100.00	\$1,100.00
\$0.30	\$438.00	\$0.35	\$511.00
\$1.00	\$380.00	\$1.05	\$399.00
\$0.60	\$174.00	\$0.65	\$188.50
\$1.00	\$1,290.00	\$1.05	\$1,354.50
\$10.00	\$600.00	\$11.00	\$660.00
\$2.00	\$800.00	\$2.10	\$840.00
\$1.00	\$640.00	\$0.65	\$416.00
\$1.00	\$395.00	\$1.00	\$395.00
\$2.00	\$220.00	\$2.00	\$220.00
\$100.00	\$500.00	\$55.00	\$275.00
\$100.00	\$200.00	\$70.00	\$140.00
\$5.00	\$50.00	\$2.10	\$21.00
\$2.00	\$260.00	\$1.60	\$208.00
\$100.00	\$100.00	\$60.00	\$60.00
\$1.00	\$55.00	\$1.00	\$55.00
\$1.10	\$528.00	\$1.15	\$552.00
\$1.50	\$240.00	\$1.15	\$184.00
\$2.00	\$360.00	\$2.00	\$360.00
\$4.00	\$2,896.00	\$4.10	\$2,968.40
\$4.50	\$963.00	\$5.10	\$1,091.40
\$6.00	\$3,750.00	\$3.60	\$2,250.00
\$17.00	\$1,156.00	\$13.30	\$904.40
\$370.00	\$2,220.00	\$400.00	\$2,400.00
\$450.00	\$2,700.00	\$500.00	\$3,000.00
			Page 3

======	=========		=========					
D.C. Burba	ach, Inc.	Marvin Gleason Cont., In						
Waukesha	a, WI	Franksville	e, WI					
5% Bid Bo	ond	5% Bid Bo	nd					
======	==========	======	==========					
\$610.00	\$2,440.00	\$595.00	\$2,380.00					
\$500.00	\$1,000.00	\$460.00	\$920.00					
\$700.00	\$1,400.00	\$735.00	\$1,470.00					
\$1.25	\$408.75	\$1.15	\$376.05					
\$2.00	\$296.00	\$1.25	\$185.00					
\$2.20	\$365.20	\$2.00	\$332.00					
\$0.75	\$348.75	\$0.75	\$348.75					
\$0.90	\$1,044.00	\$0.85	\$986.00					
\$1.61	\$4,669.00	\$1.55	\$4,495.00					
\$0.85	\$1,177.25	\$1.00	\$1,385.00					
\$0.75	\$1,542.00	\$0.65	\$1,336.40					
\$100.00	\$100.00	\$510.00	\$510.00					
\$100.00	\$100.00	\$510.00	\$510.00					
\$90.00	\$1,080.00	\$90.00	\$1,080.00					
\$2.00	\$2,070.00	\$3.00	\$3,105.00					
\$1,200.00	\$2,400.00	\$1,050.00	\$2,100.00					
\$3,000.00	\$3,000.00	\$2,150.00	\$2,150.00					
\$2,000.00	\$24,000.00	\$1,700.00	\$20,400.00					
\$400.00	\$800.00	\$365.00	\$730.00					
\$1,800.00	\$3,600.00	\$1,550.00	\$3,100.00					
\$200.00	\$1,000.00	\$200.00	\$1,000.00					
\$1,400.00	\$2,800.00	\$1,250.00	\$2,500.00					
\$3,000.00	\$3,000.00	\$3,850.00	\$3,850.00					
\$2,500.00	\$2,500.00	\$2,450.00	\$2,450.00					
\$0.85	\$382.50	\$1.05	\$472.50					
\$0.75	\$337.50	\$1.05	\$472.50					

\$308,162.10 \$333,742.72